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1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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corr_us_avg_evMon7 (ppb) 1D pull distribution
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1D pull distribution
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1D pull distribution

0.01252 +0.1289
0.8932 +0.09116

Mean
Std Dev

Underflow

1.109/5
11.11+2.06
-0.03606 + 0.14499
0.9142 +0.1187

Overflow
X2 / ndf
Constant
Mean
Sigma

A

0III|III

38.3/47
+14.92

—4.546

X2 / ndf
p0

(ppb)

corr_usr_evMon7

——

o
™

___n_u____n_u_l.l.l.l_l‘._l.l.l_II

11
o [S)
=] =]
« =

_________
o o

o
—
1

S
e




RMS (ppm)

11

10

corr_usr_evMon7 RMS (ppm)

I T Y Y Y
06 g S g A L A 3 g A o s R g 8 g 550



© ® o o ® o~ o ©
£ 3 2 < % 8
S 5] ] H 9 S
S = 2 o S a3 i
+ + s +H 0 n
g 8 & 2 g N
3 & S <
bt o s S —
2 = e
? © ]
> m 3 € -1
o £ o <] s © —
c ] c S ] = 2 ] E i
3 1)
|2 & 5 &8 = 8 2 & g
w a
2 —
=
- -
(%] L ]
© t E
=] D
o —
(@) =
- -
M | i B I | Lo by v by by v by g gy )7
N [<) © © < ] o © © < N o
N « ~ = - — —
[
N~ 0
< O
-
o
oo.+_
- s
Lo
Q
i
—
©
c
~
N O
—~[>< Q]
QO
o
o
N
(o]
c
o
>
(5]
a
(%2}
5
a
S
o
o




RMS (ppm)

corr_usr_evMon8 RMS (ppm)

T T O Y Y
PO Y B B T T A B 30 P A [ T A P A 0580500



o I ) ) < © 0 ©
g g T8 &8 g
2 S © P 5 2
S > 4 1 oS
+ b <~ 5 < H .
B3 407 5 ]
g N Q 2 —]
5 s ° .
z - ]
3 2 3 s & “ .
c|ls ¢ § § 2 z § ¢
6l & 5 & % 8 = 3§
= -
m =
5 — _ ]
S _ -
= -
o —
(@)
-
PR T N T S | L | L | P BT N RS
W_. m © © < N o
[ —_——F —_
—_———— —1:
P~ 00
< Nfp——0— I
-~ O —— -
3 ——— —
«— L0 — .
—_— —
% H . I
™ ——— —
A“ ——————— —
o™ — le— —
——i —1:
—_— —
S % ]
L . S— —
m — —
=) —— =
~><a ——— -+
QO —_— -1
o —— —
e —l . 0
o —_—— -1
c ————— —
=} ——— —
> A E— 4
o —_— —
r_ — -
G A P |
| ——— —
- — e 1 . -
o —_——t—— —
o — lo —
— —1:
—  o—1 —1.
—_— —
—_— —
—_———— —
—_— —
— |
A — -
— —1:
—_—— —
— i —
—_— e
—————
— i
111 1111 _ _.._|.|.|_IOI.|.|.|_.._ 111 111
o (=} o o o
o o o o
— | 1_.




RMS (ppm)

corr_usr_evMon9 RMS (ppm)

=

FL L L
06 g S g A L A 3 g A o s R g 8 g 550




1
]

D = o o o~ o ~ -
& o N g 5 s
5 3 s o 3 9
S S o o S H
+ + ] H g -
n @ ~ - 1] =
B2 “ 8 o E
] & = —]
S o 2 -
= n
> m 3 - € -1
o £ o <] s © —
c|§ = & & = £ § & .
o s B 5 S %« 8 2 & E
= m
5 —]
o 2
s
- 1 .
R = ]
© . -
= -
o ]
o n
i .
ol by by by by by by by b by by o7
N [<) © © < o~ o © © < ~ [S)
~ 39 — — - — =
[ Y
&
N~ N ~
< © ®
/5 @
~ 5 *
1_% — e
58 — @
N~ ®
@
? .|u|.
|
Y—
©
c °
= ®
—_—
~ O —
Sl=<2 .
Q.
o — i
N—r
o ﬂ“
—
c
=
< »
()
a
0 L g
u_ —
S
f .
o
o
@
®
—_—
°
___________.._l.l.l.l_l.l.l.l ____________ i
o o o o o o ©O 9O 9O o cOINONHO0TIN
® e ¥ « D < tooo 5606 =



RMS (ppm)

w

N
ol

15

0.5

corr_usr_evMon10 RMS (ppm)

—|III|IIII|IIII|IIII|IIII

A

O R SR g8t

L d 1|
D

4’7Wﬂ%%%%ﬂ%%%%%%%%%%”ﬂﬂ%’ﬂﬂﬂ‘Wﬂ?ﬁoﬁios



N ~ a8 9
© e 3 H °© o
+ : .
g 5 0§ g “ .
R s 3 ]
s s
. 3 =z _
3 < K] k=1 8 ]
§ S ¢ 8 E oz g E
c o ] 2 s 3 S 2 Do 3
o = 4] =) o < () = n =
= -
5 —
m -
b= .
2 -
o i
= -
o —
(@) m
i =
ol by by b by by e L
[oe) N~ © [Te) o
[ —
P~ 00 °
<t © —
~ N~ ————
S ——
oo ™M
- —|‘|.
o H [ o .
O —e—
i
. ———
— ——
——
—
—
Y ——
© —
c —
~
N O ®
al><2 —e—
o1 —e——
o -O——
~ ——
— — o——
b ——
c
o ——
—
=
> —_——
()] ——
a ———
()] ———i
u_ —
= *
o ®
(&) — i
——
|
o o
Yo} o |
= =




RMS (ppm)

corr_usr_evMonl11l RMS (ppm)

|
o s g s S s gt S ﬁ%ﬂoﬂ%oﬁ%%ﬁ%’éoﬂoﬁﬁ%%%”f@ﬂ%”ﬂﬂ%’ﬂﬂﬂ‘%75’505’3"55%9?5"50s



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74
	Page 75
	Page 76
	Page 77
	Page 78
	Page 79
	Page 80
	Page 81
	Page 82
	Page 83
	Page 84
	Page 85
	Page 86
	Page 87
	Page 88
	Page 89
	Page 90
	Page 91
	Page 92
	Page 93
	Page 94
	Page 95
	Page 96
	Page 97
	Page 98
	Page 99
	Page 100
	Page 101
	Page 102
	Page 103
	Page 104
	Page 105
	Page 106
	Page 107
	Page 108
	Page 109
	Page 110
	Page 111
	Page 112
	Page 113
	Page 114
	Page 115
	Page 116
	Page 117
	Page 118
	Page 119
	Page 120
	Page 121
	Page 122
	Page 123
	Page 124
	Page 125
	Page 126
	Page 127
	Page 128
	Page 129
	Page 130
	Page 131
	Page 132
	Page 133
	Page 134
	Page 135
	Page 136
	Page 137
	Page 138
	Page 139
	Page 140
	Page 141
	Page 142
	Page 143
	Page 144
	Page 145
	Page 146
	Page 147
	Page 148
	Page 149
	Page 150
	Page 151
	Page 152
	Page 153
	Page 154


